Logarithms Review

The following properties serve to expand or condense a logarithm or logarithmic expression so it can be
worked with.
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Write each of the following as the sum or difference of logarithms.
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Rewrite each of the following logarithmic expressions using a single logarithm.
12) ln(x+3)—ln(2x+5)+21n(x—l)

11) llog6+llog,x+zlogy
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Solve each of the following logarithmic equations. (write any answer that requires a decimal value in calculator
ready form.) Always check for extraneous roots!!!
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Solve each of the following exponential equations. Write your answer in calculator ready form
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Match the appropriate graph with its equation below. Explain why each of your solutions is true.
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Graph the following logarithmic functions finding all indicated values.
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